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x>0

d(x,t)= f(x—vt)+ g(x +vt)

#(0,t)= f(=vt)+g(vt)=0
g(vt)=—f(-wt)
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x<0



g(a)=-f(-a) a=Xx+u ()
p(x.t)= f(x—vt)— (- x-vt)
) y o x
x=0

f(~1t)=y = acos(- at - o)
2

#(0,11) = acos(— wt — §)—acos(— wt — §) = acos(— wt — §)+ acos(— ot — & + )

(1) x=0 x=0

g(Lit)=f(L-vt)- f(-L—-vt)=0

f(x—vt)= exp{i 277[ (x - vt)} = expli(kx — ot )}

1 @) k=2TUA
#(x,t) = exp{i(kx — at)} — exp{i(— kx — ot )} = exp(— i ot {exp(ikx) — exp(— ikx )}
= exp(—iwt)- 2isin(kx)
sin(kx)=0 @ O
) 4)

sin(kL)=0
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d(x, y,t)= Aexp{i(lz1 F - a)t)}+ Aexp{i(lz2 F- a)t)}
= Aexp(—iat {exp(ikx cos @ + iky sin 8) + exp(ikx cos @ — iky sin 0)}

= 2Acos(kysin8)-expi(kxcos@ — at) )



y (6)

kysin@=(2m-1)1t/2 @)

1/cos©
y (6) y

@) A/(2sin©)
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4) x=0,x=L
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